Key to Final; F5360; Fall, 1997

1.  Suppose you wished to build a case for efficient markets.  What evidence would you cite?

2.  Top management of Eastern Utilities are compensated through a monthly paycheck and a monthly contribution to their 401k retirement plan.  Eastern’s contributions to the 401k may be invested in any of the mutual funds managed by Vanguard Mutual Funds.

a.  Why types of conflicts might this compensation plan lead to between Eastern’s stockholders and managers?

b.  How might the compensation plan be revised to help resolve the conflicts in part a?

c.  How would the answer in part b help resolve the problems in part a?

3.  Why does net present value lead to better investment decisions than internal rate of return?

4.  Paternity Extortion (PE) Inc. has recently undertaken a project that is expected to generate annual cash flows of $1.5 million for 20 years.  The required return on this project is 9.4% per year.  When considering whether or not to undertake this project, PE took into consideration the fact that if project cash flows were less than expected the project could be shut down and the assets associated with the project sold for $10 million any time during the next 3 years.  While analyzing the project, PE estimated that the standard deviation of returns on the project is 26% and that the return on a 3-year Treasury strip is 5.8% and on a 20-year Treasury strip is 6.2%.  How did this ability to sell of the projects assets if the project’s cash flows were less than expected affect the value of the project to PE?

5.  During Christmas break your little sister finds your notes to this class and states that the liquidity preference theory can’t possibly be correct because sometimes the yield curve is downward sloping (your little sister aspires to be a financial analyst).  How do you respond to your sister?

6.  Gilmore Inc.  has recently announced that it plans to increase its dividend per share.  At the announcement, Gilmore’s stock rose.  Given our discussion of dividends, explain the market’s reaction to this announcement.

7.  Christmas Rush Inc. has recently announced that it plans to issue additional debt and use the proceeds to repurchase stock.  At the announcement Christmas Rush’s stock price fell.  Given our capital structure discussion, explain the market’s reaction to this announcement.

8.  HEB has recently completed and opened a new store at Wooded Acres and Bosque Boulevard at a cost of $12 million.  Net incremental cash flows are expected to be $100,000 during the first month and are expected to grow by 0.33% per month through 15 years from today then are expected to decline by 0.6% per month through the planned closing of the store 20 years from today.  The beta for HEB grocery stores is 0.6 and the market risk premium is 8%.  The return on a short-term Treasury is 5.5%.  Was the decision to build the store a correct one?  (Assume that the $12 million is payable today and that the first net cash inflow is not realized until one month from today).

Answers:

1.  
1)  daily and weekly stock returns are not predictable [4]

2)  best tests suggest that professional investment managers do not earn superior returns from private information [4]

3)  on average stock prices adjust very quickly to most announcements [4]

4)  much of the evidence initially thought to be inconsistent with efficiency can be explained

a)  excessive volatility relative to dividends may be caused by volatility of required returns [1]

b)  the profit from trading on seasonal anomolies are usually less than the spread. [1]

c)  if remove returns between ‘75 and ‘83 the small firm effect goes away. [1]

d)  much of the value/growth firm results are driven by a survivorship bias in the data [1]

Scale [checks=points]:  9=75, 8=70, 6=60, 4=50, 1=35

2. a.  Since pay is fixed, management will think more like bondholders than stockholders [4] and will be less willing to act in stockholder interest [4] since don’t participate in stockholder’s gains [4].

Conflicts:  less effort than optimal for stockholders [4], 

excessive perks [4]

less willing to undertake risk [4], 

seek to increase size of firm [4] even if doesn’t benefit stockholders since pay usually higher [1]for larger firms, 

may want to miinimize use of debt (related to risk) [4]

b.  Bonuses based on EVA [4], stock options [4], grant shares of stock of the firm [4].

c.  effort:  management now gains when stockholders do [4]

perks:  reduce EVA [2] and excessive perks reduce stock price [2]

size:  if increase size not beneficial, stock price [2]and EVA will fall [2] leading to lower compensation

risk:  options increase in value with risk [4]...also benefit if stock price rises through options and stock [2]

debt:  lowers cost of capital and thus raises EVA [2], if stock price increases [2], benefit through stock and options.

Scale [checks=points]:  36=75, 33=72, 30=67,29=65, 28=63, 25=60, 22=59, 20=58, 18=56, 12=50, 11=48

3.  NPV measures the impact of the project in the value of the firm while IRR does not [8]

1)  IRR ignores the scale of the project [4]

2)  other things equal, long-term projects will tend to have lower IRR (even if NPV is not lower) [4]

3)  often unclear whether want highest or lowest IRR [4]

4)  unclear which IRR should use if have multiple IRRs [4]

5)  may have no IRR [4]

6)  cannot compare projects of different risk [4]

7)  it is difficult to compare the IRR to the required return if the required return is not constant across time. [4]

Scale [checks=points]:  20=75, 16=71, 15=69, 14=67, 13=65, 11=63, 5=60, 3=57, 2=55, 1=50
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N(d1) = 0.89435; N(d2) = .78814

C0 = 13.31128(.89435) - 10(.78814)(e-.058x3) = 5.28223

P0 = 5.28823 - 13.31128 + 10(e-.058x3) = 0.37391611

=> value of being able to sell project’s assets worth $373,916.11.

Points:  Equations [+8 each except +4 for d2]; variables (including N()) [+4 each]; final answer [+3]

5.  Under the liquidity preference theory, the term structure may be downward sloping [6] if short-term rates are expected to fall [6] enough to overcome [8]the premium built into long-term rates [6] which compensates [1]dominant [1] short-term investors [1]who face price risk with short-term bonds [1].

Scale [checks=points]:  29+ = 75, 28=73, 26=70, 22=67, 20=64, 18=62, 16=60, 15=59, 12=56, 9=53, 7=50, 6=48

6.  
1)  dividend increase may be acting as signal [4]of management’s confidence [4]about the future [4]

=> leads stockholders to revise perception [4] of firm’s prospects and thus value upwards

2)  higher dividends increase the chance [4] that firm will have to issue securities in the future [4]

=> valuable to stockholders [4] since security issuance leads to monitoring for the stockholders [4]

3)  stock may be more valuable because the dividend will lead to expropriation from the firm’s bondholders [8]

=> pay out of cash reduces chance that bondholders will be paid in full [4] => loss in value goes to stockholders.[4]

Scale [checks=points]:  42=75, 28=71, 18=67, 16=65, 12=62, 10=60, 8=58, 6=56, 4=54, 2=52

7.  Stockholders believe the costs from the additional debt exceed the benefits associated with that debt [8]

The potential costs of debt include:

1)  Higher personal taxes on debt than equity [4]

2)  PV of expected bankruptcy costs [4]

3)  Costs associated with the loss of confidence in the firm such as lost sales, higher credit costs, loss of key employees [4]

4)  Costs associated with the diversion of resources like management effort and maintenance. [4]

5)  Costs imposed on the firm by bondholders due to stockholder-bondholder conflict [4].  These costs include monitoring, convertible debt, covenants, and higher rates. [1]

The potential benefits of debt include:

1)  The expected corporate tax shield associated with debt [4]

=> as issue debt => interest expense increases => corporate taxes decrease => value of firm & stock increases. [2]

2)  Debt helps resolve stockholder-manager [4] conflicts by:

- taking cash out of management’s hand so won’t be wasted [1]

- allowing concentration of ownership in management’s hands [1]

- keeping management’s feet to the fire [1]

Scale [checks=points]:  24=75, 16=70, 14=68, 12=66, 9=64, 6=62, 5=61, 4=60, 3=58, 2=55, 1=50

8.  r = .055 +.08(.6) = .103
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NPV = -12,000,000 + 11,914,733.82 + 1,662,404.26 = 1,577,138.07

=> correct decision since NPV > 0

Points:  Equations [+6 each]; variables:  [+2 each except:  1/12, 179, 180, 60, and 15 which are +3 each]; final answer [+2], decision [+4]
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